
Башков А.А. Умножение чисел (сложность: 2)

Вариант 1
Задание 1. 121 * 6 = ?
 
[txt] Ответ ____
Задание 2. 170 * 8 = ?
 
[txt] Ответ ____
Задание 3. 307 * 2 = ?
 
[txt] Ответ ____
Задание 4. 61 * 7 = ?
 
[txt] Ответ ____
Задание 5. 112 * 7 = ?
 
[txt] Ответ ____
Задание 6. 40 * 7 = ?
 
[txt] Ответ ____
Задание 7. 40 * 3 = ?
 
[txt] Ответ ____
Задание 8. 326 * 3 = ?
 
[txt] Ответ ____
Задание 9. 81 * 7 = ?
 
[txt] Ответ ____
Задание 10. 128 * 3 = ?
 
[txt] Ответ ____
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Башков А.А. Умножение чисел (сложность: 2)

Вариант 2
Задание 1. 307 * 3 = ?
 
[txt] Ответ ____
Задание 2. 447 * 2 = ?
 
[txt] Ответ ____
Задание 3. 107 * 9 = ?
 
[txt] Ответ ____
Задание 4. 236 * 3 = ?
 
[txt] Ответ ____
Задание 5. 150 * 7 = ?
 
[txt] Ответ ____
Задание 6. 119 * 9 = ?
 
[txt] Ответ ____
Задание 7. 171 * 4 = ?
 
[txt] Ответ ____
Задание 8. 190 * 5 = ?
 
[txt] Ответ ____
Задание 9. 60 * 8 = ?
 
[txt] Ответ ____
Задание 10. 80 * 4 = ?
 
[txt] Ответ ____
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